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1. (10%) Solve y' =3x(y+ 2); y(2) =4 

2. (15%) Solve [cos(x+ y) + sin(x- y)]y' = cos(2 x) 

3. (15%)Solve the initial value problem: y "- 4- Y= -6e2x + x; y(O)=1, y'(O)=2 

4. (15%) Solve the initial value problem: 

x
2 
y "- 3x y'+ 4 Y = 0 ; y(l )=3, y'(l )=5 

5. (15%) Use the Laplace transfoml to solve the initial value problem. 

y"+ 4 y'+ 3 y == et 
; yeO) == 0, y'(O) == 2 

6. (15 %) COlnpute F + G, F - G 2F, 3G and IIFI!.1 

F = -J2i - j - 6k, G = 8i + 2k 

7. (150/0) Find the general solution. 

2Xl -3X3 = 1 

x1 -x2 +x3 =1 

2Xl -4X2 +x3 = 2 

.... :. 


